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bem s where the [4,'3‘43;7" powes o’FS in the aminaTy
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By xNote: e fucfor of SZ must
= 3272549 ot be agum/egl to 1.
. el B uader aER 0 o Link C5) P
l‘F 5_:1 + critical a(tw/?iﬂj- s ,'H«M orato it.
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g_/‘ -z _%h ert
Soef+° 00
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i
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o First /4&1%%( (*Hte, ham(ﬁ‘f’)' Ca/culah‘i C[f)
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2
C-E=0\S+“+C if absC 'tbgcﬂbef (+ve) or (-ve)
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\ e e .ke,(e, the s‘jd’&n 35 ansfable
\ —— :> for all values £ K.
)
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) fir & peint here
- £ 55, -5 = Zers (1o RL).

S 62 -5 Gp=180° (there is RL).

s Taterseetion *

o = S'WW‘“‘F Pnlts-- fim dF?e@S
tp-MNg

in ow eyamwple :

o)

“Cccf’?tco{ doen’t Llocalte- |
i E:—Hzf

- ]

al RL.

Scanned by CamScanner



e [l
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